Aol

obd 727

@ x+42x=3x

® 4+3="7

® 7x-9=0



2. T % ot BaE we AL
® 3x-2=5x @ 2y+1=2
® —vy+2=x-1 @ 3(1-x)=3-3x

® 2(x-2)=3x-5



74z0] Zolzt x, Al2e] Polvt 3 9 AAZEE el Sele] Aol
= 16 o],

@ 2x+3=16 @ 2x-3=16 ® 2(x+3) =16

@ 2(x-3)=16 & 2x—6=16






AL

il

7

AS BE 1

i
mlo
ofN
ol
)
lo
il
i)
o,
e
4>
30,
rr
filo

H o] 7] &=
Aol Zdol7hy o AP o] Eel9] Aol 12 o[t

@
rek

© 300 L& 2271 2 i<}

al 100 Y] 9 x 7o
7FA 0] 1800 Yo|t}. Fa
© A% 50km 2 y A|7F

@ x 9 28 = 7 Hr} &t

R

ot & 7 glE 250 km ©|tt.

ORQ) CRON®) ® Q0
@ A). 0. © B O,



6. x710,1,2,3,4% 5h4Y 0, 4x - 1 = x + 8 9] & F5}oizt.

Qe



@ 4x-3=9—x=3
O x+10=2—x=-8

© 2x-4=6—>x=5
2

E) §X—3:x+1—’x:—12

@ Tx—-1=2x+4—x=5

& e
-




8.

g 2E

P

nEg o]t A

flo
M

52
ftlo

i)
i)
=

QD 4x-3=5=>4x=5+3
O x2=-x+4=>x+x=4+2
© 7T+2x=6-8x=>2x-8x=6+7

® -3x+5=2x-3=-3x-2x=-3-5

@ 9Ix+l=4x= 9x—4x=-1

YR
=¥




@ 56 ® 70







i

NE A 7155 Met

wA19] Xl w2t A= Al

L

n

Ck-

=
=%

ct-




o|J
™
ol
ofig
Xfo

RS

A
A

gl Al 3 7

Uiro] 281 Algfo] 2 77k W, 5 714 Lol 27 Aol

U

5t

x WO P OA AHE o] iy

fet.

S

@ 3x+2=5x+2

@D 3x-2=5x-2

@ 3x+2=5x

5x—2

@ 3x+2

® 3x-2=5x+2



x o] 322

b

Z =]
=0

4:3 &9

HF A (Bx+2) : (x—1)

13.

3B 0



14.

(x—=1):3=(3x+2):4 A x 2] g9

D =2 ® -6 3 0

@ 2



17F 22 o, =

9|

0.3(x—3) =0.6x—3, 2x—a = 3x+19]

@ =10 3) -8

D =12






17.

ol

a

2x+ 2
3

|
=

@ o @ -1 ®

—1=ax+b 7} x 2 3ol TAQlo] T4+ A
,b ol tiste] a + b 9] 3He?



18. thg F[ |9Hel 47t Fol7l Wy Ale] si7k ok 22

@® 3x-10=-42] @ 3x+5=-3+x[-4
® x-4= éx 6] @ 0.5x-1.2=02x+0.3 [5]

® x=2(x+1)=5][-4]



19. xof Te AT ax+4(x+b) = -8 ©] FSAl0] H7] 2t a+b
o] & ko=t

B
=¥



®a=0,b=0

@ a+0,b+0

@ a=0,b#0

® a+0

® a#0,b=0



